T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T e e e e e T
| 4 ‘ 3 2 ‘ 1 |
| TS DRAVING TS URFUBLISFED- REEASED FOR-FUBTRTON = T T o REVISIONS |
| © covmon - av oo evcrRoncs coromaTon, /L oS FESERVED | GP |00 [+ o I il |
| | A ] ReviseD PER EC_0513-0326-05 [ z8em0s [ UG [ CR |
| |
| |
1. ALL PARTS PACKAGED UNASSEMBLED.
o D
} A AS SHOWN, THIS KIT CONSISTS OF 2 }
STRAIN RELIEF HALVES, 2 #4—40 SCREWS, 2 #4—40 NUTS &
| 2 #4—40 MOUNTING SCREWS. |
| |
‘ A SAME AS SHOWN, EXCEPT: EACH PART IS INDIVIDUALLY BULK ‘
| PACKED FOR MULTIPLE KIT ORDERS. |
| OPENING FOR CABLE A ZINC PLATED .000200-.000400 THICK, CLEAR CHROMATE COATING. |
| (SEE DASH NO FOR DIA) |
| A OBSOLETE. |
| |
| |
| |
C [
| |
| ‘ |
} ~—1.2154+.015— }
SIZE IDENTIFICATION
| |
| LETTER MOLDED HERE — ~—-570+015 |
| (SEE TABLE) |
| CABLE CLAMP |
— MATERIAL: FLAME RETARDANT THERMOPLASTIC —
| |
| FINISH: BRIGHT NICKEL OVER BRIGHT COPPER |
| #4—40 FILLISTER HEAD |
\ STEEL SCREW & HEX NUT, <
| 2 EACH REQD. #4—40 FILLISTER HEAD SCREW ﬁ |
STEEL, 2 REQD. N
| 1.910+.015 5 |
B B |
| |
| |
| |
| j |
| |
| |
| — -—.630+015 |
| 984 A 200 - 5745854—5 |
\ C .250 — 5745854-3 \
| H .370 | 5745854—2 /5 5745854—1 |
| SIZE IDENT | CABLE | BULK PACKED | INDIVIDU |
‘ LETTER DIA KIT NO & KIT NO ‘
\ THIS DRAWING IS A CONTROLLED DOCUMENT. [™ /o nerep P08 Yoo Tyca Electronics Corparation |
A K oHDE ) -y Harrisburg, Pa 17105-3608 A
DIMENSIONS: ORISR [ HRUGGS | WAME
| NOHES . WALMSLEY CABLE CLAMP KIT, SIZE 1, 9 POSN, |
bec oz -
| @ iHe ic _ 180 DEGREES, PLATED PLASTIC, |
‘E’ o AMPLIMITE
| iR preemen e SizE | Gace oo0E oG 1o ReSTcTED 10 \
‘ M”ER:ELE CALLOUT F‘N‘SQEE CALLOUT i — AZ ©:5746854 _ ‘
| [CUSTOMER DRAWING =20 ™ 11 [®a |
| PrRTEET— |
T _

Downloaded from Elcodis.com electronic components distributor


http://elcodis.com/

